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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
1 100kN/m##B % % 1.00{0.00 ~ 3.13 149.89|3m%x#% %] 0.00 ~ 0.07| 3.04 15.36| 100kN/m#%#BZ.% 1.00] 10.53 ~ 28.50 149.89|3m%x# x5 25.00 ~ 2850 3.04 15.36
s 1.00] 3.13 ~ 10.91 100.00f Z=h st 1 0.07 ~ 10.91] 3.00 15.16 Lo 1.00] 5.00 ~ 10.53 100.00| =hList | 500 ~ 25.00| 3.00 15.16
9 100kN/mM##B %% 1.00{0.00 ~ 3.22 151.56|3m%x#%%| 0.00 ~ 0.36] 3.21 16.23| 100kN/m#%#BZ% 1.00] 10.78 ~ 27.95 151.56| 3m%#E% 5| 25.00 ~ 27.95| 3.21 16.23
s 1.00]3.22 ~ 11.01 100.00f Z=h st 1 0.36 ~ 11.01] 3.00 15.16 Lo 1.00] 5.00 ~ 10.78 100.00| =hList | 500 ~ 25.00| 3.00 15.16
3 100kN/mM##8 %% 1.00{0.00 ~ 3.16 150.40| 3m#*# %% 0.00 ~ 0.26[ 3.15 15.91| 100kN/m#%#BZ% 1.00| 10.62 ~ 27.21 150.40| 3m%x# x5 25.00 ~ 27.21| 3.15 15.91
s 1.00] 3.16 ~ 10.94 100.00f Z=h st | 0.26 ~ 10.94| 3.00 15.16 Lo 1.00] 5.00 ~ 10.62 100.00| =hList | 500 ~ 25.00| 3.00 15.16
4 100kN/mM##8 %% 1.00{ 0.00 ~ 2387 145.37|3m%Fx#BZ 5 ol ~ = = —| 100kN/mM%Z#BZ % 1.00] 10.58 ~ 26.42 145.37| 3m%#BZ % =l ~ = = =
s 1.00] 2.87 ~ 10.65 100.00f Z=h s+ | 0.00 ~ 10.65| 2.98 15.06 s 1.00] 5.00 ~ 10.58 100.00| =hList | 500 ~ 26.42| 298 15.06
5 100kN/m##8 %% 1.00{0.00 ~ 227 135.36| 3m#*x#BZ % ol ~ = = —| 100kN/mM%Z#BZ % 1.00| 10.57 ~ 20.31 135.36| 3m%#BZ % =l ~ = = =
s 1.00] 2.27 ~ 10.06 100.00f Z=h 4t |0.00 ~ 10.06| 2.65 13.41 s 1.00] 5.00 ~ 10.57 100.00| =hList | 500 ~ 20.31| 2.65 13.41
5 100kN/m%# 2 % 1.00[/0.00 ~ 226 135.13|3m&EBZB| - ~ = = —| 100kN/m%i#BZ % 1.00( 10.71 ~ 21.21 135.13| 3m%E#B2 % -~ = = =
L 1.00] 2.26 ~ 10.04 100.00f Z=h st | 0.00 ~ 10.04] 2.60 13.14 Lo 1.00] 5.00 ~ 10.71 100.00| =hList | 500 ~ 21.21| 2.60 13.14
7 100kN/m##B %% 1.00{ 0.00 ~ 0.89 113.35| 3m%*x#BZx 5% ol ~ = = —| 100kN/mM%Z#BZ % 1.00] 12.66 ~ 17.42 113.35| 3m%#BZ % =l ~ = = =
Lt 1.00{0.89 ~ 8.68 100.00f =1 A4t | 0.00 ~ 8.68] 2.10 10.61 st 1.00] 5.00 ~ 12.66 100.00| =hlist | 500 ~ 17.42| 2.10 10.61
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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